	
	Diagnostico tbc(-)
	Diagnostico tbc (+)

	Test ada (+)
	2 a
	17 b

	Test ada (-)
	53 c 
	28 d 


 
Sensibilidad=  2/2+53= 3.6%

Especificidad= 28/17+28=  62.2%

VPP=  2/2+17 = .10

VPN=  28/53+28 =  0.34

 CCP  3.6/ (1- 62.2) = -0.058

CPN (1-3.6)/62.2 =  - 0.041

Rr= incidencia de expuestos / incidencia de no expuestos 
[bookmark: _GoBack]Ie =  A/A+B =  2/2+17 =  2/19 =  0.10 
Io= C/C+D =  53/53+28 = 53/51=   0.65
Rr=  0.153
Or =   A/C      A x D/ B x C =    2 x 28/ 17 x 53  = 56/ 901  = 0.062
          B/D 
Rm =  6.2 %
